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QUESTION 1

You have a program called /usr/bin/foo. You wish to create a symbolic link, /home/user/foo, that points to it. Which
command will do this task?

A. In -sym /home/user/foo /usr/bin/foo

B. In -s /usr/bin/foo /home/user/foo

C. In /home/user/foo /usr/bin/foo

D. In /usr/bin/foo /home/user/foo

E. In --symlink /home/user/foo /usr/bin/foo

Correct Answer: B

QUESTION 2

Which of the following applications are used to play an MP3 file on a Linux system? (Choose THREE correct answers.)
A. Xara Xtreme

B. Banshee

C. LibreOffice Player

D. Amarok

E. Audacious

Correct Answer: BDE

QUESTION 3

Which command lists all files in the current directory that start with a capital letter?
A. Is [A-Z]*

B.Is A-Z

C.lIs A-Z*

D. Is --uppercasefiles

E. list-uppercase-files

Correct Answer: A
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QUESTION 4

Which criteria are useful when deciding which operating system to use? (Choose THREE correct answers.)
A. License costs.

B. Ideological preferences of the system administrator.

C. Linux can do everything, there is no need for further evaluation.

D. Availability of mandatory applications and tools.

E. Skills of the administrators and staff.

Correct Answer: ADE

QUESTION 5
What two character sequence is present at the beginning of an interpreted script? (Please specify the
TWO correct characters only)

Correct Answer: #!
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